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Therad is a mand here

There is usuwally a man here

#1 heard usually a car  (of. T wuswally heard a car)

&

Thersa is likely [f to be someone herel

#Thers is likely [somsons to be
e consider [there a man in the

We consider [there to be a man

heral

rroomid

in the

rocm

I consider [there #(to be) a solutionl

We consider [there, likely [,

Case is assigned only under government by a Case

ASS LGN .
A car is not here

#1 heard not a car
John Leww Tense [ willll [ue
John Laww Tense [0 doll [ue 1l
LEA card [Tense be,d [not £, h
Is a car here

#Heard I a car
There is usuwally a man here.
There [Tense be,l [usually G,
Will a car be hers

#Will be a car here

A car will not be hers

to be

a man in

leavel

avel

arel

a4 man

herel

i




25y #0 car will be not hers

(243 LA card [Tense willl Inot be herell
(25 TeThere will be usually a man here

(2b #1 heard usually a car

(27ra  John is not noisy
b John [Tense be,d [not t. noisyl

(28)a #Ba not noisy
b LIFF 21 Enot be noisyl (—% Do not be noisy}

(257 Pl believe John to be not here
Cfe I believe John is not here

(50 a1 believe John to be not singing
cfe I believe John is not singing

CELY I believe John not to be here
(E2 I believe Jobn not to be singing

(x%y  #1 believe there to be not a solution
(24 #1 believe there to be usuwally a solution
E35) I believe there not to be a solution
(ZbHy 71 believe there usually to be a solution

(57 I believe there is not a solubtion
conwwnnwawnann bi@Nse beyd not . a solutionl

(EB I believe there is usually a solution
amenaswawwwana Llense beyd fusually . a solutiond

(%93 7?There arrived a bus
40y TThere usually arrives a bus (at this time)

(41 #There arrives usually a bus (at this tTime)

(42) There is usuwally a man here
(430 #There arrived not a bus L?There did not arrive a busl
(443 #A bus arrived not LA bus did not arrivel
(457  #Arrived a bus [Did a bus arrivel
~
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#John Likes not Mary
Jean (n'laime pas M
Loaes LV LOHFFIT
John is not noisy

#Be nobt noisy
Do not be noisy

#1 believe there to
I believe there is

Pl believe John to b

I believe John is no

arie

be not a solution

not a solubion

2 not hara

t here

(36 7=l believe John to bes not singing

(357)

(5

(59)

(6O)

I believe John is no

Engli
finite
main verb %
awy verhb ok
moderate

/N
strong moderate

#1 believe there to

t singing

sh French

non-=finite finite
B fw) ‘,:: k-3
3 ol ol
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VAR /AN
strong weak

do not be a solution

non—-+inite

moderate weak




